1000/c2do) /d(my + my) [1/GeV]

MC/Data

10

10
101!
—2

10

103

=
oI
N s

I =
Gk Gn

o

Trimmed AK7 dijets, (p} + p%)/2 = 220-300 GeV

|

I IR I Tg‘
g0

-

-+
+
H '+

‘ T T ‘
—+— Data
—+— Analysis_CSS_FF_1em §M
—+— Analysis_.CSS_FI_1tem [JM(
—+— Analysis_CSS_IF_1em TEM(

ﬂ + Analysis_CSS_II_1em [JMC(
+ E
+ N
Tt §
?\ [ ‘ | ‘ || ‘ | \_0_\_*_1 ‘ I I ‘ I I ‘ I \E
E 1T T ‘ 1T ‘ [ L ‘ T T ‘ T T ‘ T T E
ﬂHiJIlJIlJ E
w ]THTTTW ]
E | \_\ [ ‘ |- . ‘ I N ‘ I N ‘ I N E
0 50 100 150 200 250 300

(my +my) /2 [GeV]



